Lesson 6-2

© Solve. €) The temperature was 77°F in
the afternoon. It was 60°F in

8 3+0= the evening. How much did the
b.72-10=____ temperature change?
C. 92+10=______ Fill in the diagram and write a
number model.
d __ _=301—-10
Change
Start| #~ =~ | End
Number model:
Answer: °F s
€ Write the number word O Circle the expanded form that
for 601. shows the larger number.
700 +10 + 8
600 + 90 +9 £

© Writing/Reasoning Explain how you decided
which number is larger in Problem 4.

3

one hundred thirty-nine 139




